Contract 24-20 - Storm Sew	er Laterals / Vario	ous Locations (#9155188)						
Owner: Oshkosh WI, City o	-	us Locations (#9100100)						
Solicitor: Oshkosh WI, City								
Solicitol. Oslikosli VI, City	, 01							
Bid Opening: 06/17/2024 11	1.00 AM CDT							
biu Opennig. 00/17/2024 11								
					Highway Land	leconore Inc	Carl Bowers & Sor	a Const Co. Inc.
					1650 East E		Call bowers & 301	is Collst. Co., Inc.
					Little Chute,			
Section Title	Itom Codo	Item Description	UofM	Owentites	Unit Price	Extension	Unit Price	Extension
	Item Code	Item Description	UOIM	Quantity	Unit Frice	\$495,855.00	Unit Frice	\$543,105.00
Section 1		Cleaning, commisto eo				\$495,855.00		\$543,105.00
	1010	Clearing; complete as	Challense	1.00	¢4 500.00	¢4 500 00	¢1.000.00	¢1,000,00
	1010	specified Clearing; complete as	Stations	1.00	\$4,500.00	\$4,500.00	\$1,000.00	\$1,000.00
	1011	0 1	In als Diamastan	36.00	\$75.00	\$2,700.00	\$25.00	\$900.00
	1011	specified	Inch Diameter	36.00	\$75.00	\$2,700.00	\$25.00	\$900.00
	1020	Grubbing; complete as specified	Stations	1.00	¢1 500 00	\$1,500.00	¢1.000.00	¢1 000 00
	1020	Grubbing; complete as	Stations	1.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00
	1021	specified	Inch Diameter	36.00	\$75.00	¢2 700 00	\$25.00	\$900.00
	1021	Mobilization; complete as	Inch Diameter	36.00	\$75.00	\$2,700.00	\$25.00	\$900.00
	1050	specified	Lump Cum	1.00	\$36,000.00	\$36,000.00	\$35,000.00	\$35,000.00
	1050	Removing concrete and	Lump Sum	1.00	\$30,000.00	\$30,000.00	\$35,000.00	\$35,000.00
		asphalt sidewalk and						
		driveway; complete as						
	1120	specified	Square Feet	1,400.00	\$8.00	\$11,200.00	\$5.00	\$7,000.00
	1120	Dredge material; load;	Square reer	1,400.00	\$0.00	\$11,200.00	\$5.00	ψ7,000.00
		transport; and dispose of						
		dewatered sediment;						
	1226	complete as specified	Cubic Yards	200.00	\$75.00	\$15,000.00	\$100.00	\$20,000.00
	1220	7" concrete pavement	Cubic Turub	200.00	\$, 5,60	\$10,000.00	\$100,000	\$20,000100
		removal and replacement;						
		including sawing;						
		pavement ties; dowel						
		bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
		and traffic control;						
	1308	complete as specified	Square Yards	420.00	\$150.00	\$63,000.00	\$132.00	\$55,440.00
		8" concrete pavement	- 1		+	+	+	400/220000
		HES removal and						
		replacement; including						
		sawing; pavement ties;						
		dowel bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
		and traffic control;						
	1319	complete as specified	Square Yards	210.00	\$160.00	\$33,600.00	\$143.00	\$30,030.00
<u> </u>	1017	Turf restoration;	Square raras	210.00	<i>\(\phi\)</i>	ψ00,000.00	φ110.00	400,000.00
	1370	complete as specified	Square Yards	1,600.00	\$9.00	\$14,400.00	\$10.00	\$16,000.00
	10/0	compare as specified	equare rards	1,000.00	\$9.00	φ11,100.00	φ10:00	\$10,000.00

Contract 24-20 - Storm Sew	er Laterals / Vario	ous Locations (#9155188)						
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
Solicitori Colinocit (11) erty								
Bid Opening: 06/17/2024 11	:00 AM CDT							
					Highway Land	Iscapers Inc	Carl Bowers & Sor	is Const. Co. Inc.
					1650 East E	-		
					Little Chute			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section The	item coue	30" concrete curb and	Collin	Quantity	Chief Fride	Extension	Chitrite	Extension
		gutter removal and						
		replacement; including						
		sawing; pavement ties;						
		dowel bars; bond breaker;						
		integral curb and fine						
		-						
		grading; turf restoration;						
		and traffic control;	.	15.00	±120.00	#1 070 00		\$4.0 50 50
	1448	complete as specified 4" concrete sidewalk with	Linear Feet	15.00	\$130.00	\$1,950.00	\$71.50	\$1,072.50
		3" CABC and grading;						
	1500	complete as specified	Square Feet	850.00	\$12.00	\$10,200.00	\$12.50	\$10,625.00
		6" concrete sidewalk/						
		driveway/ramp with 3"						
		CABC and grading;						
	1510	complete as specified	Square Feet	350.00	\$14.00	\$4,900.00	\$13.50	\$4,725.00
		6" concrete sidewalk/						
		driveway/ramp (HES)						
		with 3" CABC and						
		grading; complete as						
	1514	specified	Square Feet	175.00	\$16.00	\$2,800.00	\$14.50	\$2,537.50
		No. 4 reinforcing rods -						
		deformed; epoxy-coated;						
	1550	complete as specified	Linear Feet	550.00	\$5.00	\$2,750.00	\$2.50	\$1,375.00
		Drilled No. 4 sidewalk tie						
		bars - deformed; epoxy-						
		coated; complete as						
	1560	specified	Each	75.00	\$8.00	\$600.00	\$11.00	\$825.00
		Locate existing property						
		monuments; complete as						
	1650	specified	Each	1.00	\$750.00	\$750.00	\$250.00	\$250.00
		Replace existing property						
		monuments; complete as						
	1652	specified	Each	1.00	\$1,000.00	\$1,000.00	\$250.00	\$250.00
		Remove and replace						
		HMA pavement;						
		including sawing; fine						
		grading; turf restoration;						
		and traffic control;						
	1904	complete as specified	Square Yards	80.00	\$100.00	\$8,000.00	\$109.00	\$8,720.00

Contract 24-20 - Storm Sewe	er Laterals / Vario	ous Locations (#9155188)						
Owner: Oshkosh WI, City o	-			1				
Solicitor: Oshkosh WI, City								
Solicitol. Oslikosli Wi, City	01							
Bid Opening: 06/17/2024 11	:00 AM CDT							
bid Opening. 00/17/2024 11								
					Highway Lands	scaners Inc	Carl Bowers & Sons	Const Co. Inc
					1650 East El	*	Call Dowers & Solis	Const. Co., mc.
					Little Chute,			
Section Title	It and Calls	It is Description	UofM	O	Unit Price		Unit Price	Extension
Section 1itle	Item Code	Item Description Furnish and install 6"	UOIM	Quantity	Unit Price	Extension	Unit Price	Extension
	2000	storm sewer; complete as	.	105.00	A (F 00)	40 105 00	ta 45 00	#10 1 05 00
	2000	specified	Linear Feet	125.00	\$65.00	\$8,125.00	\$145.00	\$18,125.00
		Furnish and install 8"						
		storm sewer; complete as						
	2001	specified	Linear Feet	125.00	\$75.00	\$9,375.00	\$150.00	\$18,750.00
		Furnish and install 12"						
		storm sewer; complete as						
	2003	specified	Linear Feet	300.00	\$85.00	\$25,500.00	\$155.00	\$46,500.00
		Furnish and install 18"						
		storm sewer; complete as						
	2009	specified	Linear Feet	110.00	\$105.00	\$11,550.00	\$175.00	\$19,250.00
		Furnish and install 24"						
		storm sewer; complete as						
	2015	specified	Linear Feet	210.00	\$125.00	\$26,250.00	\$210.00	\$44,100.00
		Furnish and install 30"						
		storm sewer; complete as						
	2021	specified	Linear Feet	45.00	\$155.00	\$6,975.00	\$250.00	\$11,250.00
		Furnish and install 18"						
		RCP Class III apron						
		endwall with joint ties;						
	2142	complete as specified	Each	1.00	\$1,500.00	\$1,500.00	\$4,000.00	\$4,000.00
		Furnish and install 24"			. ,	. ,	,,	1 /
		RCP Class III apron						
		endwall with joint ties;						
	2144	complete as specified	Each	1.00	\$2,000.00	\$2,000.00	\$5,500.00	\$5,500.00
<u> </u>	2111	Furnish and install 30"	Lucii	1.00	φ2,000.00	φ_,000.00	ψ0,000.00	ψ0,000.00
		RCP Class III apron						
		endwall with joint ties;						
	2146	complete as specified	Each	1.00	\$2,500.00	\$2,500.00	\$6,000.00	\$6,000.00
	2140	Furnish and install	Lati	1.00	φ2,500.00	φ2,000.00	\$0,000.00	φ0,000.00
		standard storm sewer						
		manhole (4' diameter);						
	2201	complete as specified	Vortical Fact	2.15	¢000.00	¢2 825 00	¢000.00	¢2 500.00
	2201	Furnish and install	Vertical Feet	3.15	\$900.00	\$2,835.00	\$800.00	\$2,520.00
		standard storm sewer						
	2202	manhole (5' diameter);	Vaulia I Fact	7.05	¢1.000.00	¢7 050.00	¢000.00	#4 F05 00
	2202	complete as specified	Vertical Feet	7.25	\$1,000.00	\$7,250.00	\$900.00	\$6,525.00

Contract 24-20 - Storm Sewe	r Laterals / Vario	us Locations (#9155188)		1				
Owner: Oshkosh WI, City of	1	us Locations (#9100100)						
Solicitor: Oshkosh WI, City								
Solicitol. Oslikosli Wi, City								
Bid Opening: 06/17/2024 11:	00 AM CDT							
bid Opening. 00/17/2024 11.								
					Highway Lands	comore Inc	Carl Bowers & Sons	Const Co. Inc.
					1650 East Eli		Call bowers & Solis	Colist. Co., Inc.
Cootlos This	Here Co. Is	It was Description	U-OA	Ownerstitter	Little Chute, V		Halt Dates	Teste a de a
Section Title	Item Code	Item Description Furnish and install	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		standard storm sewer						
		inlet manhole (4'						
	0010	diameter); complete as		7.10	#000.00	#< 200.00	#0 5 0.00	¢(005 00
	2213	specified	Vertical Feet	7.10	\$900.00	\$6,390.00	\$850.00	\$6,035.00
		Furnish and install Type 1						
	2225	inlet (with 18" sump);	E . J	1.00	#2 200 00	¢2,200,00	#2 F00 00	¢0 500 00
	2235	complete as specified Furnish and install Type 3	Each	1.00	\$3,300.00	\$3,300.00	\$3,500.00	\$3,500.00
	0007	inlet (with 18" sump);	F 1	- 00	#2 7 00.00	#10 500 00	#2 000 00	¢15 000 00
	2237	complete as specified Furnish and install 6"	Each	5.00	\$3,700.00	\$18,500.00	\$3,000.00	\$15,000.00
	2400	storm sewer lateral; complete as specified	Lines Test	500.00	#EE 00	#27 F00 00	¢140.00	¢70,000,00
	2400	Furnish and install storm	Linear Feet	500.00	\$55.00	\$27,500.00	\$140.00	\$70,000.00
		sewer marker balls;						
	2404	complete as specified	Each	40.00	\$100.00	\$4,000.00	\$25.00	\$1,000.00
	2404	Furnish and install storm	Edell	40.00	\$100.00	\$ 4 ,000.00	\$23.00	\$1,000.00
		sewer clay dams;						
	2406	complete as specified	Each	20.00	\$750.00	\$15,000.00	\$100.00	\$2,000.00
	2400	Furnish and install storm	Each	20.00	\$750.00	\$15,000.00	\$100.00	\$2,000.00
		sewer lateral inlet;						
	2408	complete as specified	Each	5.00	\$1,250.00	\$6,250.00	\$1,000.00	\$5,000.00
	2400	Storm lateral inlet	Lach	5.00	\$1,250.00	\$0,230.00	\$1,000.00	\$5,000.00
		adjustments; complete as						
	2414	specified	Each	5.00	\$950.00	\$4,750.00	\$500.00	\$2,500.00
	2111	Cleanouts; complete as	Luch	0.00	\$556.66	\$1,750.00	φουσ.ου	φ2,000.00
	2418	specified	Each	5.00	\$850.00	\$4,250.00	\$500.00	\$2,500.00
		Furnish; install; maintain;		0.00	\$00000	¢ 1 <u>,</u> _00.00	4000100	<i>42,000.00</i>
		and remove Type A inlet						
		protection; complete as						
	2500	specified	Each	50.00	\$150.00	\$7,500.00	\$100.00	\$5,000.00
		Furnish; install; maintain;			+	<i></i>	+	40,000
		and remove stone bag;						
	2516	complete as specified	Each	60.00	\$12.50	\$750.00	\$10.00	\$600.00
		Furnish; install; maintain;				,		
		and remove 12" diameter						
		sediment logs; complete						
	2518	as specified	Linear Feet	100.00	\$12.00	\$1,200.00	\$10.00	\$1,000.00

Contract 24-20 - Storm Sewe	er Laterals / Vario	ous Locations (#9155188)						
Owner: Oshkosh WI, City o				<u> </u>				
Solicitor: Oshkosh WI, City								
oonenon oonnoon miy eny								
Bid Opening: 06/17/2024 11	-00 AM CDT							
bia Opening. 00/17/2024 11	.00 /10/ CD 1							
					II ahaan I aa	daaanaa Taa	Carl Baryana & Ca	en Comot Co. Ima
					Highway Land		Carl Bowers & So	ns Const. Co., Inc.
					1650 East I			
					Little Chute, WI 54140			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish; install; maintain;						
		and remove dewatering						
		tank system; complete as						
	2524	specified	Each	3.00	\$12,500.00	\$37,500.00	\$2,500.00	\$7,500.00
		Furnish; install; maintain;						
		and remove turbidity						
		barrier; complete as						
	2526	specified	Each	3.00	\$3,000.00	\$9,000.00	\$4,000.00	\$12,000.00
		Furnish and install Class						
		I; Urban; Type A erosion						
		control mat; complete as						
	2632	specified	Square Yards	460.00	\$3.00	\$1,380.00	\$5.00	\$2,300.00
		Abandon 8" - 12" storm	-1					,,
		sewer; complete as						
	2800	specified	Linear Feet	25.00	\$5.00	\$125.00	\$30.00	\$750.00
	2000	Abandon 15" and larger	Enteur reet	20.000	\$0.00	¢120.00	400100	<i>φ</i> , σοιος
		storm sewer; complete as						
	2802	specified	Linear Feet	100.00	\$10.00	\$1,000.00	\$35.00	\$3,500.00
	2002	Abandon storm sewer	Enicarrect	100.00	\$10.00	\$1,000.00	\$55.00	45,500.00
		manholes and inlets;						
	2810	complete as specified	E. J.	2.00	\$750.00	\$2,250.00	\$750.00	¢2.250.00
	2810	Connect to existing storm	Each	3.00	\$750.00	\$2,250.00	\$750.00	\$2,250.00
		U U						
		sewer main; complete as						
	2850	specified	Each	4.00	\$750.00	\$3,000.00	\$250.00	\$1,000.00
		Connect to existing storm						
		sewer lateral; complete as						
	2852	specified	Each	3.00	\$550.00	\$1,650.00	\$250.00	\$750.00
		Connect lateral to existing						
		storm sewer main;						
	2854	complete as specified	Each	10.00	\$750.00	\$7,500.00	\$1,000.00	\$10,000.00
		Connect to existing storm						
		sewer manhole; complete						
	2856	as specified	Each	2.00	\$750.00	\$1,500.00	\$500.00	\$1,000.00
		Connect to existing storm						
		sewer inlet; complete as						
	2858	specified	Each	4.00	\$750.00	\$3,000.00	\$500.00	\$2,000.00
		Storm sewer utility line						
		opening (ULO); complete						
	2914	as specified	Each	5.00	\$1,000.00	\$5,000.00	\$500.00	\$2,500.00

Contract 24-20 - Storm Sewer	Laterals / Vario	ous Locations (#9155188)						
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City o	f							
Bid Opening: 06/17/2024 11:0	0 AM CDT							
					Highway Lan		Carl Bowers & So	ns Const. Co., Inc.
					1650 East	Elm Drive		
					Little Chute	e, WI 54140		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Excavation special						
		(storm); complete as						
	2950	specified	Tons	50.00	\$25.00	\$1,250.00	\$25.00	\$1,250.00
		Furnish and install guard						
		posts; complete as						
	5800	specified	Each	1.00	\$900.00	\$900.00	\$2,000.00	\$2,000.00
Bid Total:						\$495,855.00		\$543,105.00

Contract 24-20 - Storm Sew	er Laterals / Vario	us Locations (#9155188)						
Owner: Oshkosh WI, City		us Locations (#9100100)						
Solicitor: Oshkosh WI, City								
Solicitol. Oslikosli VII, City	y 01							
Bid Opening: 06/17/2024 11	1-00 AM CDT							
biu Opennig. 00/17/2024 11	1.00 /101 CD 1							
					Don Hietpas an	ad Sone Inc	Advance Cons	struction Inc
					Don metpas an	iu sons nie.	Advance Cons	struction me.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1	item coue	item Description	Collin	Quantity	Chieffice	\$569,458.50	Chieffield	\$601,256.25
		Clearing; complete as				\$505,450.50		φ 001,230.2 5
	1010	specified	Stations	1.00	\$1,800.00	\$1,800.00	\$7,000.00	\$7,000.00
	1010	Clearing; complete as	Stations	1.00	\$1,000.00	\$1,000.00	\$7,000.00	φ7,000.00
	1011	specified	Inch Diameter	36.00	\$100.00	\$3,600.00	\$50.00	\$1,800.00
	1011	Grubbing; complete as	incir Diameter	00100	\$100.00	\$0,000,000	\$00.00	\$1,000,000
	1020	specified	Stations	1.00	\$1,800.00	\$1,800.00	\$5,000.00	\$5,000.00
	1020	Grubbing; complete as	otations	1100	\$1,000.00	\$1,000,000	\$0,000,000	\$0,000.00
	1021	specified	Inch Diameter	36.00	\$100.00	\$3,600.00	\$50.00	\$1,800.00
		Mobilization; complete as			+	++)		+-/
	1050	specified	Lump Sum	1.00	\$60,000.00	\$60,000.00	\$70,640.00	\$70,640.00
		Removing concrete and	1		. ,	. ,	. ,	. ,
		asphalt sidewalk and						
		driveway; complete as						
	1120	specified	Square Feet	1,400.00	\$2.00	\$2,800.00	\$1.00	\$1,400.00
		Dredge material; load;						
		transport; and dispose of						
		dewatered sediment;						
	1226	complete as specified	Cubic Yards	200.00	\$125.00	\$25,000.00	\$75.00	\$15,000.00
		7" concrete pavement						
		removal and replacement;						
		including sawing;						
		pavement ties; dowel						
		bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
		and traffic control;						
	1308	complete as specified	Square Yards	420.00	\$138.00	\$57,960.00	\$129.00	\$54,180.00
		8" concrete pavement						
		HES removal and						
		replacement; including						
		sawing; pavement ties;						
		dowel bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
		and traffic control;						
	1319	complete as specified	Square Yards	210.00	\$148.00	\$31,080.00	\$140.00	\$29,400.00
		Turf restoration;						
	1370	complete as specified	Square Yards	1,600.00	\$10.95	\$17,520.00	\$10.00	\$16,000.00

Contract 24-20 - Storm Sewe	er Laterals / Vario	ous Locations (#9155188)						
Owner: Oshkosh WI, City o	of							
Solicitor: Oshkosh WI, City								
. ,								
Bid Opening: 06/17/2024 11	:00 AM CDT							
1 0								
					Don Hietpas an	nd Sons Inc.	Advance Const	ruction Inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		30" concrete curb and		2				
		gutter removal and						
		replacement; including						
		sawing; pavement ties;						
		dowel bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
		and traffic control;						
	1449		Lincon Foot	15.00	\$90.00	\$1,350.00	¢75.00	\$1,125.0
	1448	complete as specified 4" concrete sidewalk with	Linear Feet	15.00	\$90.00	\$1,330.00	\$75.00	\$1,123.0
		3" CABC and grading;						
	1500	0 0	Caucano Esst	850.00	\$13.00	\$11,050.00	\$12.00	\$10,200.0
	1500	complete as specified 6" concrete sidewalk/	Square Feet	830.00	\$13.00	\$11,030.00	\$12.00	\$10,200.0
		driveway/ramp with 3"						
		CABC and grading;						
	1510	complete as specified	Square Feet	350.00	\$14.00	\$4,900.00	\$13.00	\$4,550.0
	1510	6" concrete sidewalk/	Square reet	330.00	\$14.00	\$ 4 ,900.00	\$13.00	\$4,550.00
		driveway/ramp (HES)						
		with 3" CABC and						
		grading; complete as						
	1514	specified	Square Feet	175.00	\$15.00	\$2,625.00	\$14.00	\$2,450.0
	1314	No. 4 reinforcing rods -	Square reet	175.00	\$15.00	\$2,023.00	\$14.00	φ2,±50.0
		deformed; epoxy-coated;						
	1550	complete as specified	Linear Feet	550.00	\$3.00	\$1,650.00	\$2.00	\$1,100.0
	1550	Drilled No. 4 sidewalk tie	Linearrect	550.00	\$5.00	\$1,000.00	φ2.00	\$1,100.0
		bars - deformed; epoxy-						
		coated; complete as						
	1560	specified	Each	75.00	\$11.00	\$825.00	\$10.00	\$750.0
	1000	Locate existing property	Luth	70.00	φ11.00	фо ±0.00	φ10.00	φ/ 50.00
		monuments; complete as						
	1650	specified	Each	1.00	\$1,000.00	\$1,000.00	\$250.00	\$250.00
	1000	Replace existing property	Luch	1.00	\$2,000.00	\$1,000,000	\$200.00	\$200.00
		monuments; complete as						
	1652	specified	Each	1.00	\$1,000.00	\$1,000.00	\$350.00	\$350.00
		Remove and replace			+ -/	+-/******	4440.00	420010
		HMA pavement;						
		including sawing; fine						
		grading; turf restoration;						
		and traffic control;						
	1904	complete as specified	Square Yards	80.00	\$99.70	\$7,976.00	\$107.70	\$8,616.00

Contract 24-20 - Storm Sewer	r Laterals / Vario	ous Locations (#9155188)						
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City o								
Solicitol. Oslikosli 111, čity (01							
Bid Opening: 06/17/2024 11:0	0 AM CDT							
					Don Hietpas ar	nd Sons Inc.	Advance Cons	truction Inc.
					D on metpuo u			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 6"						
		storm sewer; complete as						
	2000	specified	Linear Feet	125.00	\$55.00	\$6,875.00	\$121.00	\$15,125.00
		Furnish and install 8"			++++++	+ 0)01 0100	+	+)
		storm sewer; complete as						
	2001	specified	Linear Feet	125.00	\$65.00	\$8,125.00	\$131.00	\$16,375.00
	2001	Furnish and install 12"	Efficient reet	125.00	400.00	φ0,120.00	φ101.00	\$10,070.00
		storm sewer; complete as						
	2003	specified	Linear Feet	300.00	\$141.00	\$42,300.00	\$152.00	\$45,600.00
	2003	Furnish and install 18"	Linear reet	500.00	\$141.00	\$ 4 2,300.00	\$132.00	\$40,000.00
		storm sewer; complete as						
	2000	-	Liner Fred	110.00	¢225.00	#24 750 00	¢1.69.00	¢10,400,00
	2009	specified Furnish and install 24"	Linear Feet	110.00	\$225.00	\$24,750.00	\$168.00	\$18,480.00
		storm sewer; complete as						
	2015	specified	Linear Feet	210.00	\$240.00	\$50,400.00	\$250.00	\$52,500.00
		Furnish and install 30"						
		storm sewer; complete as						
	2021	specified	Linear Feet	45.00	\$310.00	\$13,950.00	\$366.00	\$16,470.00
		Furnish and install 18"						
		RCP Class III apron						
		endwall with joint ties;						
	2142	complete as specified	Each	1.00	\$2,900.00	\$2,900.00	\$5,000.00	\$5,000.00
		Furnish and install 24"						
		RCP Class III apron						
		endwall with joint ties;						
	2144	complete as specified	Each	1.00	\$3,200.00	\$3,200.00	\$7,100.00	\$7,100.00
		Furnish and install 30"						
		RCP Class III apron						
		endwall with joint ties;						
	2146	complete as specified	Each	1.00	\$3,500.00	\$3,500.00	\$8,300.00	\$8,300.00
		Furnish and install		1				
		standard storm sewer						
		manhole (4' diameter);						
	2201	complete as specified	Vertical Feet	3.15	\$1,160.00	\$3,654.00	\$755.00	\$2,378.25
		Furnish and install						
		standard storm sewer						
		manhole (5' diameter);						
	2202	complete as specified	Vertical Feet	7.25	\$950.00	\$6,887.50	\$1,006.00	\$7,293.50

Contract 24-20 - Storm Sew	er Laterals / Vario	ous Locations (#9155188)						
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
Solicitol. Oslikosli (VI) čity								
Bid Opening: 06/17/2024 11	•00 AM CDT							
bia opening. 00/1//202111								
					Don Hietpas an	ad Sons Inc	Advance Cons	truction Inc
					Don meipas an	lu Sons Inc.	Advance cons	duction me.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install						
		standard storm sewer						
		inlet manhole (4'						
		diameter); complete as						
	2213	specified	Vertical Feet	7.10	\$1,160.00	\$8,236.00	\$1,405.00	\$9,975.50
		Furnish and install Type 1						
		inlet (with 18" sump);						
	2235	complete as specified	Each	1.00	\$4,200.00	\$4,200.00	\$4,560.00	\$4,560.00
		Furnish and install Type 3						
		inlet (with 18" sump);						
	2237	complete as specified	Each	5.00	\$3,500.00	\$17,500.00	\$4,286.00	\$21,430.00
		Furnish and install 6"						
		storm sewer lateral;						
	2400	complete as specified	Linear Feet	500.00	\$110.00	\$55,000.00	\$116.00	\$58,000.00
		Furnish and install storm						
		sewer marker balls;						
	2404	complete as specified	Each	40.00	\$50.00	\$2,000.00	\$39.00	\$1,560.00
		Furnish and install storm						
		sewer clay dams;						
	2406	complete as specified	Each	20.00	\$125.00	\$2,500.00	\$200.00	\$4,000.00
		Furnish and install storm						
		sewer lateral inlet;						
	2408	complete as specified	Each	5.00	\$1,050.00	\$5,250.00	\$1,420.00	\$7,100.00
		Storm lateral inlet						
		adjustments; complete as						
	2414	specified	Each	5.00	\$250.00	\$1,250.00	\$200.00	\$1,000.00
	2410	Cleanouts; complete as			ATTO 00	** ** • • • • •	#2000.00	* / 000 00
	2418	specified Furnish; install; maintain;	Each	5.00	\$550.00	\$2,750.00	\$800.00	\$4,000.00
		and remove Type A inlet						
	2500	protection; complete as	F 1	-0.00	¢105.00	#< 25 0.00	¢125.00	¢< 250.00
	2500	specified Furnish; install; maintain;	Each	50.00	\$125.00	\$6,250.00	\$125.00	\$6,250.00
		and remove stone bag;						
	2516	-	Fach	60.00	\$20.00	\$1,200.00	\$10.00	\$600.00
	2516	complete as specified Furnish; install; maintain;	Each	60.00	\$20.00	\$1,200.00	\$10.00	φ600.00
		and remove 12" diameter						
		sediment logs; complete						
	2518	as specified	Linear Feet	100.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00
	2010	as specified	Lineal reet	100.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00

Contract 24-20 - Storm Sewe	er Laterals / Vario	ous Locations (#9155188)		<u>г</u>				
Owner: Oshkosh WI, City o	-			1 1				
Solicitor: Oshkosh WI, City								
oonenon: oonnoon vvi, eny								
Bid Opening: 06/17/2024 11:	00 AM CDT							
bid Opennig. 00/17/2024 11								
	-				Don Hietpas	and Sone Inc	Advance Con	struction Inc
	-				Don metpas		Auvalice Col	struction me.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section The	item coue	Furnish; install; maintain;	conn	Quantity	ChitThe	Extension	Chitrite	Extension
		and remove dewatering						
		tank system; complete as						
	2524	specified	Each	3.00	\$4,100.00	\$12,300.00	\$5,000.00	\$15,000.00
	2324	Furnish; install; maintain;	Lach	5.00	φ4,100.00	<i>ψ12,000.00</i>	\$5,000.00	\$15,000.00
		and remove turbidity						
		barrier; complete as						
	2526	specified	Each	3.00	\$4,700.00	\$14,100.00	\$5,000.00	\$15,000.00
	2320	Furnish and install Class	Each	5.00	\$4,700.00	\$14,100.00	\$3,000.00	\$15,000.00
		I; Urban; Type A erosion						
		control mat; complete as						
	2632	specified	Square Yards	460.00	\$4.50	\$2,070.00	\$2.00	\$920.00
	2032	Abandon 8" - 12" storm	Square Tarus	400.00	φ 1. 50	φ2,070.00	φ2.00	ψ720.00
		sewer; complete as						
	2800	specified	Linear Feet	25.00	\$35.00	\$875.00	\$20.00	\$500.00
	2000	Abandon 15" and larger	Enteur reet	20.00	400.00	φ0/0.00	φ20.00	4000.00
		storm sewer; complete as						
	2802	specified	Linear Feet	100.00	\$50.00	\$5,000.00	\$30.00	\$3,000.00
	2002	Abandon storm sewer	Enteur reet	100.00	400.00	\$5,000.00	400.00	40,000.00
		manholes and inlets;						
	2810	complete as specified	Each	3.00	\$1,000.00	\$3,000.00	\$500.00	\$1,500.00
	2010	Connect to existing storm	Luch	0.00	\$1,000.00	\$0,000.00	\$500.00	\$1,000.00
		sewer main; complete as						
	2850	specified	Each	4.00	\$750.00	\$3,000.00	\$650.00	\$2,600.00
	2000	Connect to existing storm	Luch	1.00	\$7.50.00	\$0,000.00	4000.00	φ2,000.00
		sewer lateral; complete as						
	2852	specified	Each	3.00	\$450.00	\$1,350.00	\$116.00	\$348.00
	2002	Connect lateral to existing	Luch	0.00	\$100.00	φ1,000.00	¢110.00	ψ010.00
		storm sewer main;						
	2854	complete as specified	Each	10.00	\$500.00	\$5,000.00	\$308.00	\$3,080.00
	2001	Connect to existing storm		10.00	\$200.00	\$5,000.00	4000.00	\$0,000.00
		sewer manhole; complete						
	2856	as specified	Each	2.00	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00
	2000	Connect to existing storm	Duch	2.00	\$1,000.00	\$_,000.00	\$1,000.00	\$ _ ,000.00
		sewer inlet; complete as						
	2858	specified	Each	4.00	\$450.00	\$1,800.00	\$1,000.00	\$4,000.00
	_000	Storm sewer utility line	Luch	1.00	φ100.00	φ1,000.00	φ1,000.00	φ1,000.00
		opening (ULO); complete						
	2914	as specified	Each	5.00	\$1,000.00	\$5,000.00	\$700.00	\$3,500.00
	2714	as specified	Lach	5.00	φ1,000.00	\$5,000.00	¢700.00	φ3,500.00

Contract 24-20 - Storm Sewer	Laterals / Vario	ous Locations (#9155188)						
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of	f							
Bid Opening: 06/17/2024 11:00	AM CDT							
					Don Hietpas	and Sons Inc.	Advance Con	struction Inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section The		Excavation special	CONVI	Quantity	Onterfice	Extension	Unit The	Extension
		(storm); complete as						
	2950	specified	Tons	50.00	\$25.00	\$1,250.00	\$70.00	\$3,500.00
		Furnish and install guard						
		posts; complete as						
	5800	specified	Each	1.00	\$1,500.00	\$1,500.00	\$600.00	\$600.00
Bid Total:						\$569,458.50		\$601,256.25

Contract 24-20 - Storm Sewer	Laterals / Vario	ous Locations (#9155188)				
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City o	f					
,,,,	-					
Bid Opening: 06/17/2024 11:00	AMCDT					
					Vinton Constru	ction Company
					Vinton Constitu	cubit company
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
Section 1						\$638,416.25
		Clearing; complete as				
	1010	specified	Stations	1.00	\$2,750.00	\$2,750.00
		Clearing; complete as				
	1011	specified	Inch Diameter	36.00	\$40.00	\$1,440.00
		Grubbing; complete as				
	1020	specified	Stations	1.00	\$2,750.00	\$2,750.00
		Grubbing; complete as				
	1021	specified	Inch Diameter	36.00	\$40.00	\$1,440.00
		Mobilization; complete as				
	1050	specified	Lump Sum	1.00	\$93,435.00	\$93,435.00
		Removing concrete and				
		asphalt sidewalk and				
		driveway; complete as				
	1120	specified	Square Feet	1,400.00	\$2.00	\$2,800.00
		Dredge material; load;				
		transport; and dispose of				
		dewatered sediment;				
	1226	complete as specified	Cubic Yards	200.00	\$120.00	\$24,000.00
		7" concrete pavement				
		removal and replacement;				
		including sawing;				
		pavement ties; dowel				
		bars; bond breaker;				
		integral curb and fine				
		grading; turf restoration;				
		and traffic control;				
	1308	complete as specified	Square Yards	420.00	\$165.00	\$69,300.00
		8" concrete pavement				
		HES removal and				
		replacement; including				
		sawing; pavement ties;				
		dowel bars; bond breaker;				
		integral curb and fine				
		grading; turf restoration;				
		and traffic control;				
	1319	complete as specified	Square Yards	210.00	\$165.00	\$34,650.00
		Turf restoration;	1		+200100	<i>40 -,000</i>
	1370	complete as specified	Square Yards	1,600.00	\$11.80	\$18,880.00

Contract 24-20 - Storm Sewe	er Laterals / Vario	ous Locations (#9155188)				
Owner: Oshkosh WI, City o	of					
Solicitor: Oshkosh WI, City	of					
Bid Opening: 06/17/2024 11	:00 AM CDT					
					Vinton Constru	ction Company
	I	the Desiries		0		F ()
Section Title	Item Code	Item Description 30" concrete curb and	UofM	Quantity	Unit Price	Extension
		gutter removal and				
		0				
		replacement; including				
		sawing; pavement ties;				
		dowel bars; bond breaker;				
		integral curb and fine				
		grading; turf restoration;				
		and traffic control;				
	1448	complete as specified	Linear Feet	15.00	\$150.00	\$2,250.00
		4" concrete sidewalk with				
		3" CABC and grading;				
	1500	complete as specified	Square Feet	850.00	\$13.50	\$11,475.00
		6" concrete sidewalk/				
		driveway/ramp with 3"				
		CABC and grading;				
	1510	complete as specified	Square Feet	350.00	\$15.00	\$5,250.00
		6" concrete sidewalk/				
		driveway/ramp (HES)				
		with 3" CABC and				
		grading; complete as				
	1514	specified	Square Feet	175.00	\$15.00	\$2,625.00
		No. 4 reinforcing rods -				
		deformed; epoxy-coated;				
	1550	complete as specified	Linear Feet	550.00	\$3.00	\$1,650.00
		Drilled No. 4 sidewalk tie				
		bars - deformed; epoxy-				
		coated; complete as				
	1560	specified	Each	75.00	\$10.00	\$750.00
		Locate existing property				
		monuments; complete as				
	1650	specified	Each	1.00	\$500.00	\$500.00
		Replace existing property				
		monuments; complete as				
	1652	specified	Each	1.00	\$500.00	\$500.00
		Remove and replace				
		HMA pavement;				
		including sawing; fine				
		grading; turf restoration;				
		and traffic control;				
	1904	complete as specified	Square Yards	80.00	\$130.00	\$10,400.00

Contract 24-20 - Storm Sew	er Laterals / Vario	ous Locations (#9155188)				
Owner: Oshkosh WI, City	of					
Solicitor: Oshkosh WI, Cit	y of					
i						
Bid Opening: 06/17/2024 1	1:00 AM CDT					
1 0						
					Vinton Construc	tion Company
						1 5
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Furnish and install 6"				
		storm sewer; complete as				
	2000	specified	Linear Feet	125.00	\$116.20	\$14,525.00
		Furnish and install 8"				
		storm sewer; complete as				
	2001	specified	Linear Feet	125.00	\$118.20	\$14,775.00
		Furnish and install 12"				
		storm sewer; complete as				
	2003	specified	Linear Feet	300.00	\$131.00	\$39,300.00
		Furnish and install 18"				
		storm sewer; complete as				
	2009	specified	Linear Feet	110.00	\$223.40	\$24,574.00
	2007	Furnish and install 24"	Efficarrect	110.00	\$223.40	ψ24,574.00
		storm sewer; complete as				
	2015	specified	Linear Feet	210.00	\$183.68	\$38,572.80
	2013	Furnish and install 30"	Linear reet	210.00	\$185.88	\$30,372.00
	2021	storm sewer; complete as specified	Liner Fred	45.00	¢420.00	¢10 200 F
	2021	Furnish and install 18"	Linear Feet	45.00	\$430.90	\$19,390.50
		RCP Class III apron				
		-				
		endwall with joint ties;				
	2142	complete as specified Furnish and install 24"	Each	1.00	\$1,890.00	\$1,890.00
		RCP Class III apron				
		endwall with joint ties;				
	2144	complete as specified	Each	1.00	\$2,095.00	\$2,095.00
		Furnish and install 30"				
		RCP Class III apron				
		endwall with joint ties;				
	2146	complete as specified	Each	1.00	\$2,555.00	\$2,555.0
		Furnish and install				
		standard storm sewer				
		manhole (4' diameter);				
	2201	complete as specified	Vertical Feet	3.15	\$920.30	\$2,898.95
		Furnish and install				
		standard storm sewer				
		manhole (5' diameter);				
	2202	complete as specified	Vertical Feet	7.25	\$1,430.00	\$10,367.50

Contract 24-20 - Storm Sewer	Laterals / Vario	ous Locations (#9155188)				
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City o						
,,,,,,,,,,,,						
Bid Opening: 06/17/2024 11:0	0 AM CDT					
					Vinton Construc	tion Company
					vinton construc	
0 11 1711				0	IL 'S D '	
Section Title	Item Code	Item Description Furnish and install	UofM	Quantity	Unit Price	Extension
		standard storm sewer				
		inlet manhole (4'				
		diameter); complete as				
	2213	specified	Vertical Feet	7.10	\$1,025.00	\$7,277.50
		Furnish and install Type 1				
		inlet (with 18" sump);				
	2235	complete as specified	Each	1.00	\$5,207.00	\$5,207.00
		Furnish and install Type 3				
		inlet (with 18" sump);				
	2237	complete as specified	Each	5.00	\$3,661.00	\$18,305.00
		Furnish and install 6"				
		storm sewer lateral;				
	2400	complete as specified	Linear Feet	500.00	\$113.00	\$56,500.00
		Furnish and install storm				
		sewer marker balls;				
	2404	complete as specified	Each	40.00	\$212.00	\$8,480.00
		Furnish and install storm				
		sewer clay dams;				
	2406	complete as specified	Each	20.00	\$625.00	\$12,500.00
		Furnish and install storm				
		sewer lateral inlet;				
	2408	complete as specified	Each	5.00	\$2,381.00	\$11,905.00
		Storm lateral inlet				
		adjustments; complete as				
	2414	specified	Each	5.00	\$450.00	\$2,250.00
		Cleanouts; complete as				
	2418	specified	Each	5.00	\$1,560.00	\$7,800.00
		Furnish; install; maintain;				
		and remove Type A inlet				
		protection; complete as				
	2500	specified	Each	50.00	\$70.00	\$3,500.00
		Furnish; install; maintain;				
	1	and remove stone bag;				
	2516	complete as specified	Each	60.00	\$35.00	\$2,100.00
	1	Furnish; install; maintain;		1		
		and remove 12" diameter				
	1	sediment logs; complete				
	2518	as specified	Linear Feet	100.00	\$12.00	\$1,200.00

Contract 24-20 - Storm Sewe	er Laterals / Vario	ous Locations (#9155188)				
Owner: Oshkosh WI, City o						
Solicitor: Oshkosh WI, City						
Solicitol. Oslikosli VI, City						
Bid Opening: 06/17/2024 11	:00 AM CDT					
					Vinton Constru	ction Company
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Furnish; install; maintain;				
		and remove dewatering				
		tank system; complete as				
	2524	specified	Each	3.00	\$2,765.00	\$8,295.00
		Furnish; install; maintain;				
		and remove turbidity				
		barrier; complete as				
	2526	specified	Each	3.00	\$2,500.00	\$7,500.00
		Furnish and install Class				
		I; Urban; Type A erosion				
		control mat; complete as				
	2632	specified	Square Yards	460.00	\$1.75	\$805.00
		Abandon 8" - 12" storm				
		sewer; complete as				
	2800	specified	Linear Feet	25.00	\$28.00	\$700.00
		Abandon 15" and larger				
		storm sewer; complete as				
	2802	specified	Linear Feet	100.00	\$32.00	\$3,200.00
		Abandon storm sewer				
		manholes and inlets;				
	2810	complete as specified	Each	3.00	\$730.00	\$2,190.00
		Connect to existing storm				
		sewer main; complete as				
	2850	specified	Each	4.00	\$682.00	\$2,728.00
		Connect to existing storm				
		sewer lateral; complete as				
	2852	specified	Each	3.00	\$385.00	\$1,155.00
		Connect lateral to existing				
		storm sewer main;				
	2854	complete as specified	Each	10.00	\$610.00	\$6,100.00
		Connect to existing storm				
		sewer manhole; complete				
	2856	as specified	Each	2.00	\$550.00	\$1,100.00
		Connect to existing storm				
		sewer inlet; complete as				
	2858	specified	Each	4.00	\$465.00	\$1,860.00
		Storm sewer utility line				
		opening (ULO); complete				
	2914	as specified	Each	5.00	\$950.00	\$4,750.00

Contract 24-20 - Storm Sewer I	Laterals / Vario	ous Locations (#9155188)				
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City of						
Bid Opening: 06/17/2024 11:00	AM CDT					
					Vinton Constru	iction Company
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Excavation special				
		(storm); complete as				
	2950	specified	Tons	50.00	\$34.40	\$1,720.00
		Furnish and install guard				
		posts; complete as				
	5800	specified	Each	1.00	\$1,500.00	\$1,500.00
Bid Total:						\$638,416.25